
Close Enough For Jazz 
by Eric Berlin 
 
Here is the completed grid: 
 
 

S P A S M       D I G I T 

T       O   W N   N O N E 

  A L O N       E F A D E 

R     U D   E A N O     N 

A R I   A   S M I   T E   

      S Y S T E M         

D O T A G E E S S   E X   

S L     O W N E W   E R   

E   B B   E D R I D L E Y 

M   O O S R         A P T 

B   O N S A   I R E T R O 

A   B E   L       S T I R 

R E     I D   C L I E N T 

K E Y S P A         S T E 

 

 
The blank squares form letters that spell out the puzzle’s answer, SPACE. 
 

 


